Item Step 1 Step 2

RT ‘a’ ‘b’ P of Chi-Sq | Status

present?
Q1 No 0.900 | -0.397 0.150 Included
Q2 No - - <0.005 Removed step 2.4
Q3 No - - <0.004 Removed step 2.1
Q7 No 1.506 | 0.593 0.148 Included
Q8 No 1.478 | 0.123 0.425 Included
Q10 No - - <0.004 Removed step 2.2
Q11 Yes - - N/A Removed step 1
Q12 No - - <0.006 Removed step 2.5
Q15 Yes - - N/A Removed step 1
Q17 No 1.212 | 0.848 0.087 Included
Q19 No <0.006 Removed step 2.6
Q21 No 0.950 | 0.222 0.782 Included
Q22 Yes - - N/A Removed step 1
Q23 No - - N/A Removed step 2.7 — RT
Q24 No 1.070 | 0.561 0.084 Included
Q25 No - - <0.005 Removed step 2.3

Table 4. Results of the item reduction through the IRT analysis. RT = reverse thresholds.



